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BEGIN
UPDATE account
SET balance =
WHERE account number

balance - amt
srcacct;
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UPDATE account
SET balance =
WHERE account number
END;
/

balance + amt
dstacct;
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Time

LB
read_item(X);
X:=X-N;

write_item(X);
read_item(Y);
Y: =Y+ N;

write_item(Y);

T,
read_item(X);
X=X+ M;

write_item(X);
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[start_transaction, T]
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[write_item, T, X, old_value, new_value]
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read_item(X); Sy sl J’M
X :=X-N; . LGNV
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Y: =Y+ N;
write_item(Y);
X = 80
N=5 ——> X =84 X X=79
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read_item(X); 6)>:
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Time read_item(X); _
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(Incorrect Summary Problem)

T3

read_item(X);
X:=X-N;
write_item(X);

read_item(Y);
Y: =Y+ N;
write_item(Y);

sum := 0;
read_item(A);
sum :=sum + A;

read_item(X);
sum := sum + X;
read_item(Y);
sum :=sum + Y;
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(Unrepeatable Read Problem)
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read_item(X);

read_item(X);
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read_item(X); o)yl
X=X+ M;

write_item(X);
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read_item(X);

read_item(Y);

read_item(Z),
S=X+Y+Z
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read_item(Y);

Y:=Y-100;
read_item(z);
Z:=2Z+ 100;

write_item(Y),
write_item(Z),
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